ZFF:E F1BBEKER8/ 50

[1#8] [HEFY—FTOKYO] Fa—k
JEfE FLB FzUvva #O2hEH5T EHEIST HAGIURA selma] m|amse] % | worw [ wes | wxs | #aE
22 - 20 - 2 - 2
4 Fxl)wia [ ] '27 = f; - | Oful -2 22 o0f2f1 4 025 67 98 0684
(RERTID 1 - 2 = 0 - 2
Py 0 - 0 - 2 =
2 7%'3*)n77j o f; - U o 12; B 157 | - | 2(af2]|0]4 2 200 112 85 1318
(F 3% 2 - 1 2 1 -
- 22 - 20 17 - 2
E- Y - - _
3 Eﬂ"zﬁ97j | - | L '57 = 12; o - 21’ 202 of2]1 4 025 78 98 0796
(. 9. ) = 1 - 2 0 - 2
27 - 12 = IR
-I HAGIURA Ofz - u - Oz - » 24al2fof4 0 MAX 84 60 1400
(&) 2 -0 = 2 - 0
[2#8] [HEFY—FTOKYO] Fa—k
35 F—LA& SETT AHTEGST EDLE Ba| B | B @] ] wrs] BRA|RAA| AR
21 - 13 21 - 16
‘I SETT Oz - 15 L 2o 2| 1| 13| 2|50 88| 80| 1100
o # 2 - 0 1 - 2
_ B - 2 21 - 14
7 _ _
2 NHDLEIST || -2 Ola2t - 15 20 11| 2] 2]100]| 70| 71| 0986
(5 &) 0o - 2 2 - 0
16 - 2 7 - 2
3 EDLI o a - .“5 oA 21| 1|2]3]|o67| 81 | 8 | 0920
(W &) 2 - 1 0 - 2
[3#] [REFY—FTOKYO] Io—Fk
[ F—b& J. Ly X Fil =B%F X#HvBC selma] m | a[ee] % | worw [ wes | wxs | #aE
20 - 22 - 21 - 18
-I J. ILYX ’ﬂ - - 0‘2' = 2lal2|o]a| 400 100 8 | 1205
(FAEFE) 2 - 1 = 2 - 0
22 - 20 21 - 12 -
2 %ﬁ [ ] :; - ﬂ 0’21 -7 | . | 231 |1]3 2 150 90 87 1034
¢ ) 1 - 2 2 - 0 -
— = [P % - o
4 ZBRF | - | @l - la .‘H - 22 o0f2]0 4 000 62 87 0713
[C) = 0 - 2 0 2
18 - 21 B % - 2
3 X#EvBC @7 - 2 | _ | 0’21 = 2laf1]1]2 2 100 80 75 1067
[C-IED) 0 - 2 = 2 - 0
[4#8] [REFY—FTOKYO] IO—Fk
[ F—L%& =WTai=7 TR EHEEJVC BA| B | B @] kt| s BRR|RAA| BAE
e 21 - 6 21 - 10
1 =poa=7 Olat - 5 Olzt - n 22| 0| 4| o0|max| 8a| 34| 247
[ 2 - 0 2 - 0
- 5 - 21 5 - 2
3 BRIz ® s - u ® - 2 2| 0| 2| 0| 4 |000| 40 | 84| 0476
(w m 0 - 2 0 - 2
0 - 2 21 - 15
2 RHEEJVC .“3 - Olar - w4 21| 1| 2| 2|00 65| 71 0915
(& 0 - 2 2 - 0
[548) [HEERFAT7)—F] Pa—Fk
JEE F—L%& BmJVC EHI= P m—9357 [wel|ma| s | 8se] %t wobE | wEa #BxA BaE
- 2 = TR
3 RREJvC o|a - ‘53’ | - | @ 6 - 2 2lal1|1]2] s 067 ) st | o975
[ 2 - 1 = 0 - 2
21 - 1 22 - 24 -
4 EMs= |- a O] -a | - | 2l2|ofa|1]| 025 7 e | om
[¢: . 1 - 2 0o - 2 -
— = - 2 0 - 2
2 R | - | Oz - 10 .‘13 =~ 2 21|12 2 1.00 68 % 0919
[ D) = 2 - 0 0 - 2
- — 27 - 14 = 27 -1
‘I ﬁg*ﬁ—bjj O]z =18 | - | O = =18 2|4al2]o0]4 0 MAX 84 55 1527
(BRREM ) 2 -0 = 2 - 0
[6#8)] [HEREFA>F7U—F] PaI—hk
B F—L& HEI DA EDOR XE W] B | B | W] k| bk AR RER] @RE
s - 21 7 - 2
3 #MEIL1 ® i - 2 ® 1 - o 2| 0| 2| 0|4 |oo0| 50| 84| 0595
% H) 0o - 2 0 - 2
— 21 - 8 21 - 19
1 BOER Ofar - Ofzt - 1 2| 2| 0| 4| 0|max| sa| 50| 1680
[€. 3] 2 -0 2 - 0
- 21 - 17 9 - 21
2 PN Olat - 1 ® 2 - 2| 1| 1| 2| 2|00 73| 73| 1000
(G 2 - 0 0 - 2
[748) [HERERXA>F7U—F] Qa—Fh
{5 L& e LANI BRPREVC  [5e] B | B | #u| st o BAR|RAR] BAE
21 - 19 21 - 19
‘I ﬁﬁ o 1: N ﬂ o }; - f; 22| 0| 4| 2]|200( 99 | 103]| 0961
(w39 2 - 1 2 - 1
1 - 2 B - 2
3 NI I ® 5 - 2 20| 2| 1| a]o2s| 79| 94| 0840
(X B 1 - 2 0 - 2
HEhRVC ° 9 - 2 o 21 - 13
2 V 2o oo 2| 1| 13| 2150 9a| 75| 1253
R &) 1 - 2 2 - 0
[s#f] [HEERFAT7U)—TF] Qa—+
35 F—LE T R &5 b1 WA B | B @] st] s BRA|REA| ARE
N 21 - 16 9 - 2
2 N Olar - 1 ® a - n 2| 1| 13| 2|50 93| 77| 1208
[ ;) 2 - 0 1 - 2
- ® - 2 B - 2
3 HEEEELS @ - ® iz - 2 20 o0|2| 0] 4|ooo]| s5] 84| 0655
(Rt i) 0o - 2 0 - 2
21 - 19 21 - 13
‘I p-1 o nooA Olz - 1 2| 2|0 4| 1|40 89| 76| 1171
(i ) 2 - 1 2 - 0




TFFE F1HHEHFHEERS/ 5(N)

[off] [EEZRESHLAERESHTE] Ra—k
[ F—L%& EFVBC BB CIIL TWEIVBC oL RRA| XA MRE
23 - 20 ERRE
1 ZFVBC O| -8 O] - mAx| 86 | 68 | 1.265
(= ) 2 - 0 2 - 0
- <o - 3 21 = 19
3 EBIVOIL (@ - ® i - 2 025 | 81 | 99 | 0sis
@& ) 0 - 2 1 - 2
7 - 2 - 2
2 \iEJVBC ® 6 - 2 o a4 067 | 84 | 84 | 1000
& 0 - 2 2 - 1
[10#] [EZRESAELESFEE] Ra—k
[R5 F—LA FoI4= NIFII1—=> LIl e
21 - 12 7 - 10
1 A = Olat - 19 Olzt - 7 max| 84 | 48 | 1750
(X ) 2 - 0 2 - 0
7 - 2 21 - 10
2 NYRIL4—> (@) - Ol2t - 15 100 | 73 | 67 | 1.000
(fz=)D) 0 - 2 2 - 0
0 - 2t v - 2
3 A ® 7 - ® 5 - 2 000 | 42 | 84 | 0500
(" 50) 0 - 2 0 - 2
[114] CEERESAERERTE] S a—+k
[ F—L7 B3] =% H=JVC ool E| RER| BRR| BAE
v - 2 8 - 21
3 XA .‘ - 2 L ﬂ - }g 025 | 82 | 96 | 0854
E D 0o - 2 1 - 2
— TR 21 = 10
1 =15 O‘Z‘ - Ofzt - 18 max| sa | 57 | 1474
(& @) 2 - 0 2 - 0
. 2 - 18 0 - 2
2 FEJVC O‘ o .‘ ’o-A 067 | 82 | 95 | 0863
& B 2 - 1 0 - 2
[124] CEZRESAELESFEE] S a—p
[B5: F—L& BIAJVC NEFSSV BRI IR R BAA|REA] BAE
4 - 2 21 - 14
=4\ _ -
3 EJVe .| wo-oa ® }f - f;| 025 | 78 | 92 | 0848
(il #) 0o - 2 1 - 2
TR 21 - 10
1 INEFSSV 0‘21 - Ol - 10| max| 84 | s1 | 1647
(F® 2 -0 2 - 0
I 7 - 2 v - 2
2 BRI O‘ 2w .| o -2 067 | 70 | 89 | 0787
# K) 2 - 1 0 - 2
[134] [EERESAELESFEE] Ta—k
[B5: F—L& EPSJIVC PN T HTHVBC R BRA|REA] BAE
N = T - 21 21 - 16
2 EP3JIVC ® s - Oz - = 100 | 70 | 79 | o0ss6
& B 0 - 2 2 - 0
-~ TR 21 - 10
1 DAZTRE Olat - 15 O|21 o8 max| 84 | 44 | 1500
& ¥) 2 -0 2 - 0
. 6 - 21 v - 2
3 H<BVBC ® 2 - 2 ® s - = 000 | 55 | 86 | 0640
(FARLL) 0 2 0 - 2
[144] (BEREHL Ta—k
[R5 F—L& EE®IVC BIERAT 1 bR RRR| RAR] BAE
— 8 - 21 21 - 6
2 Ef8Jve LARE -2 O‘ 2 -1 100 | 73 | 63 | 1.150
¢ )] 0o - 2 2 - 0
2 - 18 2 =
1 L E#EJIVC Olat - 1 O‘Z‘ - max| 84 | 57 | 1474
(5 W) 2 - 0 2 - 0
6 - 2 - 2
3 HIERATY ® 5 - 2 ® 5 - 000 | 47 | 84 | 0560
Gt 0 - 2 0 - 2
[1588) (R ESAEREHTE] Uad—k
(5 F—L%& 1FBT 5 I XD oo | B RAA| BAK
B - 2 21 - 9
2 [X4T @7 - 21‘ O] a -9 100 | 72 | 60 | 1.200
(® 40) 0o - 2 2 - 0
27 - 13 2 = 12
1 H 15 Ola - Ofzt - 12 max| 84 | 54 | 1556
(ERMW) 2 - 0 2 - 0
N 9 - 2 7 - 2
3 INGETRYRIL .‘ ¢ -2 .“? - ?“ 000 | 42 | 84 | 0500
= ) 0 - 2 0 - 2
[1641] [EZREBAELESFEE] Ua—k
35 F—L& IR BT RES1=7 o k| REA|BAR| BAE
- 21 - 9 21 - 9
1 PE O|21 -8 Ol - 2 Max| 5 | 46 | 1.848
X W) 2 - 0 2 - 0
— CREY B - 2
3 M5 .‘ 8 - 2 ® v - 2 000 | 54 | 84 | 0643
& B 0 - 2 0 - 2
—~ 9 - af 7 - 18
2 R&EDa=7 .‘ 0 -2 O| no-n 100 | 71 | 80 | osss
& I 0 2 2 - 0




